Previous Week

familiarization with the apparatus
calibration old setup

CCE measurements for diamond (23851353)
writing report



measuring system

needle

radiation top left

top right
bottom
right

bottom left

source




CCE, %

100

205

90
80 E
e
ok
w02
400
30

right

Field strength, V/ul
0.6 0.8 1 .

CCE top

2217 539 um
0 0. 0.4

0 0.4 12 1.4 16 18
I T I I I I I I I
—1500
1
-LT —1400
‘+
f —1300E
i| 2350.53 539 um | Field strength, V/um
e L 1000 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8
= s P T | | | \
N e J T T T 1' + J iy —{500
N g ! ) :
o 801 i
e = T —400
0 g I
70 r
= *
601 ¥
= E g —{300
T L I
g 50::
o 40:
v —200
30/—*#
Faf
201 =100
oy
1057
o? 1 1 | 1 1 | 1 1 | 1 | 1 1
0 200 400 600 800 1008

Bias voltage, V

CCD, um

CCE, %

100

20

90
8o0F
o
ot
50°
40
305

Field strength, V/um
06 0.8 1 1.2

left

Bias voltage, V

. 14 16 1.8
\ | \ \ | \ | \ \
+ —|500
lf —400
]
3 “1300E
= # E’
2217 539 um Field strength, V/ium
L] 100 E 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8
L] H I I I I I [ I I
: - SRR EE 1 77
B 90 I
= 80F }
0 = l 7’400
70F ;
60
= E ; —{300
9 e
Q 50 -
o 40/ —
E —+200
30—-%
EoE
20 = =100
10}:
L]
0” 1 1 1 1 | | 1 1 1 1 1 1 1
0 200 400 600 800 100%

=

CCD



CCE, %

right

CCE top

Field strength, V/um
0 0. 0.4 06 08 1 1.2 14 16 18

\ bottom-left 539 um \ Field strength, V/um
100 0 0.2 04 0.6 0.8 1 1.2

100 | \ \ \ \ \ | | |
g i ! - 1500
90 = 1
80 ]
E T —400
70C
60 * £
E j'} —3005
50 =)
= § 9
“ E —200
304
el ]
20 = ‘ 2205.95 539 um | Field strength, V/um
105 1000 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8
E T \ | | | \ | | \
ot c [ T T T ! T T b T T T 500
90| {
80 f
= + —1400
70
s 50 : —1300§
S E If 3
w50 o
Q & o
Q [ *E (5]
40 o —200
30 -
20" o]
Ly 100
105
00 — 200 ‘ ‘ 400 I ‘ 600 — 800 I ‘1003

Bias voltage, V

CCE, %

20F

0

90f

80

70%

60

50|

a0f

30

10F

T T \ T \ \ \ \ T
. -1500
+ —1400
1
jf 1300
=)
0
)
T —
: 200
i!
= | bottom-left 539 um | Field strength, V/um
7;' 1000 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8
b F 1 1 \ \ T ' 1 I
o E TT' ITTT TTT--{,(]O
0 901
= L
80 !
E T —400
701 T
60 E
S ; —1300
9 E
[&] 50 =
[&] =
401 “1200
= i
30 gy |
E e
2012 =1100
10f=
i
0 0 200 400 600 800 100%
Bias voltage, V
o

CCD, um



The plan for this week:

« check the calibration factor

« check how the position of the diamond
(23851342) affects to the CCE analysis

 measured diamond (23851253) in the new box.

« compare the results of the measurements for the
new and the old box (23851253)



